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1. A and B are two events in an experiment where P(4) = 0.6 geay T 0.6

and P(A N B) = 0.2. Find P(B | 4).

2. A pair of fair 6-51?ed>d}ce %tzfsecgijlﬁt/l {the sum 1s 7} and B = {3 appears on at least one die}.
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In 3-5, a weighted die results in the following probability distribution.
(Number | 1 | 2 | 3 | a [ 5 | 6 )
| Probabitity | 015 | 0.10 | 020 | 010 | 030 | 015 )
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6. A software company’s spam filter has a 98% accuracy identifying spam and a 93% accuracy
identifying non-spam messages. The company estimates that 70% of all emails are spam.
a. Make a contingency table for this situation.
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b. A false positive results when the software identifies a legitimate e \} b. P 6.5

e-mail message as spam. Find the probability a message is not
spam even though it was identified as spam by the software. Pl& )
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